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’ Lawrence  D.  Schall  and Charles W. Haley, Introduction lo Financial Management (3’d ed.; New York:

McGraw-Hill Inc.. 1983),  PP.397.399.
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(1) (2) (3) (4) (6)

Activity Ratios

Inventory Turnover
&~fUii7Ylu 5 9 1 1

hFi7”J”&takl

Average Collection

Period, Day 56 46 30

“fJ”U1”,&&i~7’uU
LltlIU1tlFixed-Assets TUI~OVH 1 1 1 0 3.375

n%d?iunms
UElRYltlTotal Asset Turnover 7 6.5 2.16

Yl%&&MtJW

Profitability Ratios

Gross Profit Margin,%

Net Operating Margin,%

Profit Margin on Sales,%

Return on Total Asset, !h

1 2 14

5 6

2.6 3

9

1 8 . 5

6.33

3.1

10.12

Return on Equity, %
fillrqni 9.5 11 13.33

i?UUOJ$D$4

N
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Current Ratio =

900,000=
450,000

= 2
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= 1.22
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= 400,000 + 53,000

53,000

= a.55
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~u~l~J.&Jba&~u~M$J = tuhlJniTJ&4JaFl+  kzll~Jfl~JdalfJJa~
2

450,000 + 350,000=
2

= 400,000

Inventory Turnover
&uwuBu~1ll10=-

PUblJfliTJKb8fJ

4,400,000
=  400 ,000

= 11
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Average Credit Sales Per Day = fJo~ulua~ol9a  1 5

360 %
5,400,000  ¶JlYl=

360 %A

= 15,000 Lml/a"pd $,

Average Collection Period =
mwJlur~o~a~lJdo~u

450,000 Yvl
= 15,000 ml/%.k

= 30 -%.A
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Fixed-Assets Turnover =
LIEWIJIFJ

_ bn
MWKlIUKllLl~
5,400,000

=
1,600,OOO

= 3.315

Total-Assets Turnover = ~Wllll!J
u ce

ll3wuBu;4MaJe\

5,400.000=
2.500.000

= 2.16
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Gross Profit Margin = fJQ~lllu  - GYu~uGer~lvlu

UQWUIU
5,400,000  - 4,400,000=

5,400,000
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Net Operating Margin

Operating Income Operat ing Income x Sales
Total Assets Sales Total Assets

= Net  Operat ing Margin  x Tota l -Asse ts  Turnover  Rat io
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Profit Margin on Sales = iidagw5

fJOWlfJ

200,000=
5,400,000

= 0.037

= 3.7%

Return on Total Assets =
a, 6-a  w

wawuwu~.sMu~
200,000 + 53,000=

2,500,000

= 10.12%
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5
Lawrence D.Schall  and Charles W. Haley, PP. 411.4,~.
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Net Operating Margin

Return on Equity = fxhylf

fh'aa9innirhQP6.m f.lQVIllfJ

Profit Margin on Sales

Total-Assets Turnover 1 + Debt Ratio6

6[Total  Assets/Equity/  = j(Equity+Debt)/Equityj  = 1  + lDebt/Equity]  = 1  +Debt  Ratio
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